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1. B * Bt bl 13, 056, 580 45. 1 6,249,097 | 11,012,190 84.3
(N it 6, 875, 639 23.7 2,952,594 6, 684, 590 97.2
( 19, 819 ) 2.2 Y| ( 8,493 )| ( 14,814)| ( 74.7)

Qr#EERUVAEHESE 318,916 1.1 132, 537 306, 219 96.0
B FEAHRERUVFHH 330, 928 1.2 156, 038 307, 939 93.1
(4) Bt -3 4R A 115, 204 0.4 92, 551 115,129 99.9
k) &F Fft s 1,771,438 6.1 1,392, 544 1,670, 579 94.3
( 10, 700 ) 1.2 )| ( 0)]|( 0)](C 0.0)

(6) #2 A e 2,487,208 8.6 853, 398 853, 398 34.3
( 27,827) 3.1 )| ( 0)]¢( 27,827 )| (100.0)

(7) #& i s 324, 651 1.1 0 324, 651 100.0
(8) & 4R A 832, 596 2.9 669, 435 749, 685 90.0
2. K = Bt IR 15, 922, 449 54.9 7,212, 835 13, 387, 262 84.1
M #H E 5 322, 140 1.1 223,912 315, 819 98.0
Q BEgERESEHXMNE 26, 297 0.1 14,216 37, 846 143.9
B EREHEREDXMNTE 11, 252 0.0 6, 550 6, 550 58.2
@ H F B X #F £ 10, 679 0.0 2,940 5,017 47.0
G B L B KX F £ 14, 551 0.1 12,611 15, 854 109.0
6) BMAFZFEFFIXRFE 9, 650 0.0 8,379 8,379 86.8
M A EEHRX TS 1,016, 721 3.5 413, 851 994,974 97.9
8 #h H #HF ffl X F &£ 99,774 0.4 91, 460 134, 725 135.0
@O AH T F B 5, 686, 514 19.6 2,143,654 5,781,115 101.7
(10) XBREX KB FE 11,684 0.0 4,914 10, 148 86.9
( 270,183) 30.1 )| ( 227,395)| ( 227,395)|( 84.2)

aMmmE E X H = 4, 258,218 14.7 2,497, 240 3,875, 259 91.0
( 144,154) 16.0 )| ( 124,664 )| (. 132,698 )| ( 92.1)

(12) & b3 H e 3,056, 291 10.6 1,714, 308 2,122,776 69.5
( 425,700) 47.4 )| ( 253,100)|(  270,800)|( 63.6)

13) & 1,398,678 4.8 78, 800 78, 800 5.6
= A & & ( 898,383) 100.0 ) ( 613,652 )| ( 673,534)|( 75.0)

= = 28,979, 029 100.0 13,461,932 | 24, 399, 452 84.2
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.88 = & 246, 580 0.8 102, 255 242, 472 98. 3
( 4,652 ) ( 0.5) ( 3,761 ) ( 3,761 ) 80.8)

2. # % & 5, 956, 054 20.5 1,785,087 3,229, 427 54.2

3. R & E=y 10, 747, 7141 37.1 5,470, 731 10, 107, 735 94.0

4. 17 & E=y 2,192, 380 7.6 976, 753 2,041, 411 93.1

5. % & & 75, 163 0.3 2,033 73,728 98.1
( 51, 506 ) ( 5.7) ( 30, 635 ) ( 44,372 ) 86.1)

6. EMKEXE 1,252,100 4.3 596, 873 802, 890 64. 1

1. B T E=y 650, 618 2.2 143, 865 536, 393 82.4
( 134,013) ( 14.9) ( 43,273) ( 130,018) 97.0)

8. /N E=y 1,030, 752 3.6 394, 700 590, 539 57.3

9. 8 %3] & 1,039, 781 3.6 308, 556 1,012,035 97.3
( 429,195) ( 47.8) ( 186, 908 ) ( 369,343) 86.1)

10. £ B & 2,020, 100 7.0 975,176 1,713, 809 84.8
( 279,017) ( 31.1) ( 120, 943 ) ( 233,025) 83.5)

"N KEEHE 268, 348 0.9 73, 487 74,070 27.6

12. & & & 1, 881, 706 6.5 939, 055 1, 880, 692 99.9

13.% X H £ 1,587, 706 5.5 967, 022 1, 586, 990 100.0

14. ¥ {3 & 30, 000 0.1 0 0 0.0
A 5t ( 898,383) ( 100.0) ( 385,520) ( 1780,519) 86.9 )

= A 28, 979, 029 100.0 12, 735, 593 23, 892, 191 82.4
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